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“Assessment Poétry

17 Write the correct tools to match the dés‘c’fr‘iptions’ in;’;tﬁs'fable.'

Heavy head shining and wide

Leng limp two-handled . - :
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19. How does the poet try to make the reader feel so"rr‘g“fd’r the tree? Refer to the text tosupport o
: yo}u)"};a@'wé g
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20. What are the names given to the tree fellers?
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Year 6 Reading Assessment Poetry

Look at the line: ‘And so they approach the proud tree that bears the death-mark’

25. Explain the meaning of the words ‘bears’ and ‘death-mark’ in this sentence.

| bears

death-mark
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**END OF TEST * =
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